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(12) ^maVmMm {deofV: ‘hmamḯ>mMm ŷJmoc
1) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
2) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU
3)  ‘hmamḯ>mVrb O{‘ZrMo àH$ma
4) à‘wI {nHo$ - eoVr
5) ehao Am{U ZmJarH$aU
6) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
7) CÚmoJ
8) amOH$s` ̂ yJmob - bmoH$g§»`m, ̂ mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

1) OmoS>çm bmdm … (2011 À¶m OZJUZoZwgma)
amÁ¶ qbJJwUmoÎma

a) ‘hmamï´> i) 919
b) H$Zm©Q>H$ ii) 929
c) Ho$ai iii) 973
d) JwOamV iv) 1084
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (ii) (iii) (iv) (i)

3) (iii) (i) (iv) (ii)

4) (iv) (iii) (i) (ii)

1) Match the following (As per 2011 census) :

State Sex Ratio

a} Maharashtra i) 919

b) Karnataka ii) 929

c) Kerala iii) 973

a) Gujarat iv) 1084

Answer Options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (ii) (iii) (iv) (i)

3) (iii) (i) (iv) (ii)

4) (iv) (iii) (i) (ii)
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2) ^maVmÀ¶m bmoH$g§»¶oÀ¶m nwT>o ¶oUmè¶m àjonU g§~§Yr Imbrb {dYmZm§n¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV ?
a) nwT>o ¶oUmao AZw‘mZ 21 amÁ¶o Am{U 1 g§KamÁ¶joÌ {dMmamV KoD$Z ‘m§S>brV.
b) ^maVmMr bmoH$g§»¶m 121.1 H$moQ>r dê$Z 151.8 H$moQ>r BVH$s dmT>Uo Ano{jV Amho. (2011 nmgyZ Vo 2036 n¶ªV)
c) ñWyb OÝ‘Xa 2011 Vo 2015 ‘Yrb 19.6 nmgyZ 2031-35 ‘Ü¶o 13.0 Agm KQ>ob.
d) d¥Õ bmoH$m§Mr g§»¶m 10 H$moQ>r (2011) nmgyZ 2036 n¶ªV 23 H$moQ>r Aer XþßnQ>rhÿZ A{YH$ dmT>ob Ago Ano{jV Amho.
e) qbJ JwUmoÎma 2011 ‘rb 943 dê$Z 2036 ‘Ü¶o 929 BVH$m KQ>ob.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (c) Am{U (d) 3) (a), (b), (c) Am{U (d) 4) ’$º$  (e)

2) As per Projections about population of India, which of the following statements is/are correct ?

a) Projections are based on consideration of 21 States and 1 Union Territory.

b) Population of India is expected to increase from 121.1 cr to 151.8 cr during 2011 - 2036.

c) Crude birth rate will decline from 19.6 in 2011-15 to 13.0 during 2031-35.

d) Number of older | persons is expected to increase by more than double from 10 cr in 2011

to‘23 cr in 2036.

e) Sex ratio will decline from 943 in 2011 to 929 in 2036.

Answer Options :

1) (a) and (b) 2) (c) and (d) 3) (a), (b), (c) and (d) 4) Only (e)

3) OmoS>çm Owidm.
     amÁ¶ Ob{dÚwV H|$Ð
a) Amgm‘ i) e~ar {Jar
b) Ho$ai ii) ndZm
c) n§Om~ iii) H$moQ>bm
d) ‘hmamï´> iv) C‘ré
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (i) (iv) (ii)

3) (iv) (i) (iii) (ii)

4) (iv) (iii) (ii) (i)

3) Match the following :

     States Hydro-electric centres

a) Assam i)  Shabari giri

b) Kerala ii) Pawana

c) Punjab iii) Kotala

d) Maharashtra iv) Umiru

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (i) (iv) (ii)

3) (iv) (i) (iii) (ii)

4) (iv) (iii) (ii) (i)
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1) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
1) H$mamH$moa‘ am§JoVrb Ho$2 ho ^maVmVrb gdm©V C§M {eIa ...... {h‘mb¶mV pñWV Amho.

1) Hw$‘mD±$ 2) H$mí‘ra 3) n§Om~ 4) nyd©
1) K2 in the Karakoram range is the highest peak in India located in the ...... Himalayas.

1) Kumau 2) Kashmir 3) Punjab 4) East

2) Aa~r g‘wÐ d ~§JmbÀ¶m CngmJambm {‘iUmè¶m ZÚm§Mm ...... à‘wI Ob{d^mOH$ Amho.
1) nyd© KmQ> 2) npíM‘ KmQ> 3) {h‘mb¶ nd©V 4) {Zb{Jar nd©V

2) ...... is a major water divider of rivers flowing into the Arabian sea and Bay of Bengal.

1) Eastern Ghats 2) Western Ghats

3) Himalaya Mountains 4) Nilgiri Mountains

3) CÎmaoH$Sy>Z X{jUoH$S>o ¶oVmZm ‘hmamï´> nR>mamda gømÐrnmgyZ Imbrb S>m|Ja am§Jm§Mm H$moUVm H«$‘ ~amo~a Amho?
1) h[aeM§Ð - ~mbmKmQ> - AqOR>m - gmV‘mim 2) gmV‘mim - AqOR>m - h[aeM§Ð - ~mbmKmQ>
3) AqOR>m - gmV‘mim - ~mbmKmQ> - h[aeM§Ð 4) ~mbmKmQ> - gmV‘mim - AqOR>m - h[aeM§Ð

3) Which of the following is the correct sequence of Mountain ranges from Sahyadri on the

Maharashtra plateau from North to South ?

1) Harishchandra - Balaghat - Ajanta - Satmala

2) Satmala - Ajanta - Harishchandra - Balaghat

3) Ajanta - Satmala - Balaghat - Harishchandra

4) Balaghat - Satmala - Ajanta - Harishchandra

4) Aa~r g‘wÐ Am{U gømÐr nd©V ¶m§À¶m Xaå¶mZ ...... hm àmH¥${VH$ {d^mJ AmT>iVmo.
1) ‘hmamï´> nR>ma 2) npíM‘ KmQ> 3) gmVnwS>m S>m|Ja 4) H$moH$U {H$ZmanÅ>r

4) ...... Natural division is found between Arabian Sea & the Sahyadri Mountains.

1) Maharashtra Plateau 2) Western Ghat 3) Satpuda Mountain 4) Kokan Coast

5) ^maVr¶ OZJUZm 2011 Zwgma Imbrb amÁ¶mVrb qbJ JwUmoÎma MT>Ë¶mH«$‘mZo bmdm …
a) {h‘mMb àXoe b) amOñWmZ c) {~hma d) {Ìnwam          e) npíM‘ ~§Jmb
n¶m©¶r CÎmao …
1) (c), (b), (e), (d), (a) 2) (b), (c), (d), (a), (e) 3) (b), (c), (e), (a), (d) 4) (c), (b), (a), (d), (e)

5) Arrange the sex ratio of following states in ascending order according to Census 2011 in India.

a) Himachal Pradesh b) Rajasthan c) Bihar d) Tripure e) West Bengal

Answer Options :

1) (c), (b), (e), (d), (a) 2) (b), (c), (d), (a), (e) 3) (b), (c), (e), (a), (d) 4) (c), (b), (a), (d), (e)

6) EH$ bmI OrdrV OÝ‘m‘mJo ‘mVm‘¥Ë¶y XamMo à‘mU 2014 Vo 2016 ¶m H$mbmdYrV H$go hmoVo?
a) JwOamV 191 b) ‘hmamï´> - 61 c) n§Om~ - 122 d) h[a¶mUm - 161
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (b), (c) Am{U (d) 4) (a), (b) Am{U (c)
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6) How is the maternal mortality rate per one lakh live births from 2014 to 2016?

a) Gujarat - 191 b) Maharashtra - 61 c) Punjab - 122 d) Haryana - 161

Answer Options :

1) (a) and (b) 2) (b) and (c) 3) (b), (c) and (d) 4) (a), (b) and (c)

7) bmoH$g§»¶oMr Z¡g{J©H$ dmT> ‘moOÊ¶mgmR>r nwT>rb KQ>H$ {ZYm©aH$ ‘mZbo OmVmV …
a) OÝ‘Xa b) ‘¥Ë¶yXa c) ñWbm§Va d) darbn¡H$s Zmhr
n¶m©¶r CÎmao …
1) (a) Am{U (c) 2) (b) Am{U (c) 3) (a) Am{U (b) 4) ’$º$ (d)

7) The following factors are considered determining the Natural Growth of the Population:

a) Birth Rate b) Death Rate c) Migration d) None of the above

Answer Options :

1) (a) and (c) 2) (b) and (c) 3) (a) and (b) 4) Only (d)

8) ^maVmVrb bmoH$g§»¶oMo ñdê$n Imbrbà‘mUo Amho …
a) qbJ JwUmoÎma 954 Amho. b) gamgar Am¶w‘m©Z 71 df© Amho.
c) {Zå‘r bmoH$g§»¶m VéU d CËnmZj‘ Amho. d) gmjaVm à‘mU ehar ^mJmV d nwéfm§‘Ü¶o A{YH$.
nwT>rbn¡H$s H$moUVm n¶m©¶ ¶mo½¶ Amho?
1) (a) Am{U (c) 2) (a) Am{U (b) 3) (c) Am{U (d) 4) (b) Am{U (c)

8) Nature of Indian Population are as follws :

a) Sex ratio is 954.

b) The average life expectancy is 71 years.

c) Half of the population is young and productive.

d) Literacy ratio is more in urban areas and male.

Which of the following options is true?

1) (a) and (c) 2) (a) and (b) 3) (c) and (d) 4) (b) and (c)

9) Imbrbn¡H$s H$moUVo {dYmZo ¶mo½¶ Amho/AmhoV?
a) 2011 Mr OZJUZm hr gbJ 15 dr d ñdmV§Í¶mZ§VaMr 7 dr OZJUZm hmoVr.
b) OZJUZm H$m¶Xm 1949 bm g§‘V H$aÊ¶mV ¶odyZ ^maVmMr n{hbr OZJUZm 1951 ‘Ü¶o nma nS>br.
c) ñdmV§Í¶mZ§Va ^moa g{‘VrÀ¶m {e’$maerZwgma OZJUZoMr g§nyU© O~m~Xmar amÁ¶m§Zr KoVbr.
n¶m©¶r CÎmao …
1) (a) 2) (b) 3) (c) 4) darbn¡H$s gd©

9) Which of the following statements is/are correct?

a) The Census of 2011 is 15th consecutive census and 7th census after independence

b) The Census law is approved in 1949 and the first census of India is conducted in 1951.

c) After independence, the whole responsibility of census is taken by states as per Bhor Committee

recommendations.

Answer Options :

1) (a) 2) (b) 3) (c) 4) All of the above
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10) 2011 À¶m OZJUZoZwgma ehar ^mJ hmoÊ¶mgmR>r H$‘rV H$‘r àVr Mm¡.{H$.‘r. bmoH$g§»¶oMr KZVm {H$Vr AgUo
Amdí¶H$ Amho?
1) 300 2) 350 3) 400 4) 450

10) According to 2011 census of India, What is minimum per square k.m. density of population

required to be Urban area?

1) 300 2) 350 3) 400 4) 450

11) 2011 À¶m OZJUZoZwgma ^maVmÀ¶m EHy$U bmoH$g§»¶oV ehar bmoH$g§»¶oMr Q> o̧$dmar {H$Vr Amho?
1) 27.7% 2) 31.1% 3) 35.4% 4) 36.5%

11) What is the percentage of Urban Population in total population in India (2011 Census)?

1) 27.7% 2) 31.1% 3) 35.4% 4) 36.5%

12) 2011 À¶m OZJUZoZwgma ^maVmVrb gmjaVm à‘mU …
a) J«m‘rU ^mJm‘Ü¶o {ó¶m 50.75% d nwéf 70.57% b) ehar ^mJm‘Ü¶o {ó¶m 79.92% d nwéf 89.67%
c) J«m‘rU ^mJm‘Ü¶o EHy$U gmjaVm 67.8%. d) ehar ^mJm‘Ü¶o EHy$U gmjaVm 84.1%.
darbn¡H$s H$moUVo n¶m©¶ ~amo~a AmhoV?
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) (a) Am{U (b) 4) (c) Am{U (d)

12) Literacy rate in India as per 2011 census :

a) In Rural areas female 50.75% and male 70.57%.

b) In Urban areas female 79.92% and male 89.67%.

c) Total literacy in Rural areas is 67.8%.

d) Total literacy in Urban areas is 84.1%.

Which of the above options are correct?

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a) and (b) 4) (c) and (d)

13) a)$Á¶m doir ‘¥Ë¶yXa Am{U OÝ‘Xa hm gmaIm AgVmo Ë¶mdoir cmoH$g§»¶m pñWa AgVo.
b)$OÝ‘Xa OmñV Am{U ‘¥Ë ỳXa H$‘r AgVmo Voìhm cmoH$g§»¶m dmT>Vo.
c)$‘¥Ë¶yXa OmñV Am{U OÝ‘Xa H$‘r Agë¶mg cmoH$g§»¶m H$‘r hmoVo.
d)$H$moUË¶mhr XoemVrc cmoH$g§»¶oMr d¥Õr Am{U èhmg hm OÝ‘Xa Am{U ‘¥Ë¶wXamda Adc§~yZ AgVmo.
darcn¡H$s H$moUVo {dYmZ MwH$sMo AmhoV ?
1) (a)$ Am{U, (d)$ MyH$ 2) (a)$ Am{U (c)$
3) (a),(c) Am{U (d)$ 4) darcn¡H$s Zmhr

13) (a)  Population is stable when mortality rate and birth rate are the same.

(b)  Population increases when birth rate is high and mortality rate is low.

(c)  If the morality rate is high and birth rate is low, then the population decreases.

(d)  The growth and decline of population of any country depends on the birth rate and mortality  rate.

Which of the statements(s) given above are incorrect ?

l)  (a) and (d) 2)  (a) and (c) 3)  (a), (c) and (d) 4)  None of the above

14) 2011 À¶m OZJUZoZwgma ‘hmamï´>mMo qcJ à‘mU H$m¶ Amho ?
1) 940 2) 921 3) 929 4) 1021

14) What  is the sex ratio Maharashtra as per the 2011 census ?

1) 940 2) 921 3) 929 4)  1021
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15) gmjaVm XamVrc H«$‘dmarZwgma ^maVmVrc Imcrc amÁ¶m§Mm H«$‘ cmdm. (OZJUZm 2011)
a)$‘hmamï´> b)${h‘mMc àXoe c)${X„r d)$Vm{‘iZmSy>
n¶m©¶r CÎmao …
1) (d), (c), (b), (a) 2) (c), (b), (d),(a) 3) (b), (c), (a), (d) 4) (c), (b), (a), (d)

15) Arrange the following States of India (Census 2011)

(a)  Maharashtra (c)  Delhi (b)  Himachal Pradesh (d)  Tamil Nadu

Answer Options :

1)  (d), (c), (b), (a) 2)  (c), (b), (d), (a) 3)  (b), (c), (a), (d) 4)  (c), (b), (a), (d)

16) 2011 ‘Ü¶o Pmcoë¶m OZJUZoZwgma ^maVmVrc J«m‘rU d ehar ^mJm§Vrc qcJJwUmoÎmamV AmT>iUmè¶m V’$mdVr
{df¶rMo/Mr gË¶ {dYmZo/Zo {ZdS>m.
a. {VÀ¶mV dmT> Pmcr hmoVr.
b. Vr H$‘r Pmcr hmoVr.
c. JwOamV‘Ü¶o {VMo à‘mU ‘moR>o hmoVo.
n¶m©¶r CÎmao :
1) ’$º$ a 2) ’$º$ b 3) b  Am{U c 4) a Am{U c

16) Select the correct statement(s) regarding the gap in sex ratio in rural and urban India as per census

2011.

a. It has been increasing

b. It has been decreasing

c. Itis large in Gujarat

Answer options :

1) Only a 2) Only b 3) b and c 4) a and c

17) Imcrcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a. gm‘mÝ¶ n[apñWVr‘Ü¶o 1050 ‘wct‘mJo 1000 ‘wcJo Ago qcJJwUmoÎma Agco nm{hOo.
b. ór-nwéf qcJJwUmoÎma 1961 ‘Ü¶o 941 hmoVo. 2011 ‘Ü¶o ho à‘mU 914 n¶ªV Imcr Amco.
c. J ©̂qcJ {ZXmZ MmMUr ‘wio qcJ JwUmoÎmamda n[aUm‘ hmoVmo.
n¶m©¶r CÎmao :
1) a Am{U c 2) b Am{U c 3) a and b 4) darcn¡H$s gd©

17) Which of the following statement/s is/are correct ?

a. Under normal circumstances there should be a sex ratio of 1050 girls to 1000 boys.

b. The sex ratio was 941 in 1961 which came down to 914 in 2011.

c. The gestational diagnostic test affects the sex ratio.

Answer options :

1) a and c 2) b and c 3) a and b 4) All of the above
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4) à‘wI {nHo$ - eoVr
1) ^mV {nH$mMr nmÊ¶mMr Amdí¶H$Vm ...... Amho.

1) 150 Vo 200 {‘‘r 2) 900 Vo 2500 {‘‘r 3) 400 Vo 600 {‘‘r 4) 450 Vo 650 {‘‘r
1) A water requirement of rice crop is ......

1) 150 to 200 mm 2) 900 to 2500 mm 3) 400 to 600 mm 4) 450 to 650 mm

2) Imbrbn¡H$s ¶mo½¶ CÎma {ZdS>m.
a) Ádmar ho ‘hmamï´>mVrb à‘wI ImÚ {nH$ Amho.
b) ÁdmarMo CËnmXZ Iarn Am{U aã~r XmoÝhr h§Jm‘mV KoVbo OmVo.
c) ÁdmargmR>r C~Xma hdm‘mZ, H$mir O‘rZ ¶mMr Amdí¶H$Vm ZgVo.
n¶m©¶r CÎmao …
1) (a) {dYmZ ¶mo½¶ Amho. 2) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV.
3) (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) gd© {dYmZo ¶mo½¶ AmhoV.

2) Choose the appropriate answer from the following.

a) Sorghum is a major food crop in Maharashtra.

b) Sorghum is grown in both Kharif & Rabi seasons.

c) Sorghum does not require warm weather & black soil.

Answer Options :

1) (a) is correct. 2) (a) and (b) are correct.

3) (b) and (c) are correct. 4) All are correct statements.

3) Imbrbn¡H$s H$moUVr nrHo$ hr ‘mVrMr Yyn amoYH$ nrHo$ AmhoV?
a) Mdir Am{U ‘yJ b) Ádmar Am{U ~mOar c) ŵB©‘yJ Am{U CS>rX d) H$mnyg Am{U ‘H$m
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) (b) Am{U (d) ’$º$

3) Which of the following crops are soil erosion resisting crops ?

a) Cowpea and green gram b) Sorghum and pearl millet

c) Groundnut and black gram d) Cotton and maize

Answer Options :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (b) and (d) only

4) nmbme ‘ybÐì¶mMo (nmoQ>°{e¶‘Mo) nmbme Am°³gmB©S> (nmoQ>°{e¶‘ Am°³gmB©S>) ‘Ü¶o ê$nm§Va H$aÊ¶mMm ...... hm JwUm§H$
Amho.
1) 1.20 2) 2.29 3) 1.66 4) 1.39

4) Conversion factor of K element into K
2
O is ......

1) 1.20 2) 2.29 3) 1.66 4) 1.39
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5) OmoS>çm bmdm.
(gyú‘ AÞÐì¶o)                     (H$m¶©)
a) OñV (qPH$) i) ZdrZ noetMm {dH$mg d dmT>
b) ‘m°brãS>oZ‘ ii) àH$meg§íbofUgmR>r Amdí¶H$
c) ŠcmoarZ iii) e|J Hw$imVrb {nH$m‘Ü¶o ZÌ pñWarH$aU
d) ~moam°Z iv) AZoH$ EZPmBågMo KQ>H$
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (iii) (i) (iv) (ii)

5) Match the followings :

(micro nutrients)                    (Function)

a) Zine i) Development and growth of new cells

b) Molybdenum ii) Essential for photosynthesis

c) Chlorine (iii) Nitrogen fixation in legumes

d) Boron iv) Constituent of several enzymes

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (iii) (i) (iv) (ii)

6) {nH$mÀ¶m CËnmXZmda XþîH$mimMm (nmÊ¶mMm VmU) à{VHy$b n[aUm‘ H$‘r H$aÊ¶mgmR>r ¶mo½¶ ì¶dñWmnZ (Cnm¶)
gwMdm?
a) g|{Ð¶ ^aIVo dmnam b) AmÀN>mXZmMm dmna
c) nmÊ¶mMm VmU/H$‘VaVm ghZ H$aUmar {nHo$ KoUo d) gKZ nrH$ nÕVr
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) Am{U (d) ’$º$ 3) (a), (b) Am{U (c) ’$º$ 4) darb gd©

6) Suggest suitable management practices to mitigate the adverse effect of drought on crop

production :

a) Apply bulky organic manures b) Use of mulches

c) Growing drought resistant crops d) Intensive cropping system

Answer Options :

1) (a) only 2) (b) and (d) only 3) (a), (b) and (c) only 4) All of the above

 ZÚm - YaUo Am{U àH$ën
1) dYm© ZXr d d¡ZJ§Jm ZXr ¶m§Mm g§J‘ Pmë¶mZ§Va Ë¶m ZXrg H$moUË¶m ZmdmZo AmoiIbo OmVo?

1) dYm© 2) d¡ZJ§Jm 3) àmU{hVm 4) M§Ð^mJm
1) What is the name of river after confluence of Wardha river and Vainganga river ?

1) Wardha 2) Vainganga 3) Pranhita 4) Chandrabhaga
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2) Imbrbn¡H$s H$moUVm Ja‘ nmÊ¶mMm Pam OiJmd {Oëøm‘Ü¶o pñWV Zmhr?
1) gmd 2) AS>mdX 3) CZnXod 4) Mm§JXod

2) Which of the following Hot Water Spring is not located in the Jalgaon district ?

1) Saav 2) Adavad 3) Unapdev 4) Changdev

3) OmoS>çm bmdm
                    ñWmZ/pñWVr     dñVr àmê$n
a) XmoZ ZÚm§À¶m g§J‘mda {dH${gV dñË¶m i) aofmH¥$Vr
b) ZXrÀ¶m gnm©H$ma diUmda {dH${gV dñË¶m ii) {ÌH$moUmH¥$Vr
c) ZXrÀ¶m Vramda {dH${gV dñË¶m iii) AY©dVw©imH$ma
d) gamodamÀ¶m bJV {dH${gV dñË¶m iv) dVw©imH$ma
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (i) (iv)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (iii) (ii)

3) Match the following.

                                    Situation Settlement Pattern

a) Settlements developed at confluence of two rivers i) Linear

b) Settlements developed along meanders ii) Triangular

c) Settlements developed along river banks iii) Semi-circular

d) Settlements developed around the lake iv) Circular

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (i) (iv)

3) (ii) (i) (iii) (iv)

4) (iv) (i) (iii) (ii)

5) ehao Am{U ZmJarH$aU
1) ...... hr g§km gd©àW‘ A‘o[aH$Z ŷJmobVÁk OrZ Jm°Q>‘Z ¶m§Zr ‘m§S>br.

1) à‘hmZJa 2) ‘hmZJa 3) ZJa 4) ZJa n§Mm¶V
1) The term ...... was first coined by American geographer Gene Gottman.

1) Megalopolis 2) Metropolitan 3) City 4) Nagar Panchayat

2) ZmJarH$aUm‘wio ZmJar joÌmV KSy>Z ¶oUmao ~Xb AmhoV -
a) OZgm§p»¶H$s¶ ~Xb b) g‘mO g§aMZoV ~Xb c) ì¶dhm[aH$ ~Xb
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) 3) (c) ’$º$ 4) darb gd©
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2) Due to urbanization, there is/are changes in urban area.

a) Demographic changes

b) Change in social structure

c) Behavioural changes

Answer Options :

1) (a) only 2) (a) and (b) 3) (c) only 4) All of the above

3) ñWm¶r dgmhV (dñË¶m) ñWmnZoMo Imbrbn¡H$s H$moUVo H$maU/H$maUo AmhoV?
1) Ym{‘©H$ {dYr H$aÊ¶mH$[aVm 2) ór d ‘wbm§Zm gwajm XoÊ¶mH$[aVm
3) AÝ¶ O‘mVrÀ¶m AmH«$‘UmnmgyZ gwajm 4) darbn¡H$s gd©

3) Which of the following is/are reasons/a reason for the establishment of stable settlements ?

1) To perform religious rituals 2) To give protection to women and children

3) To protect from invaders’ attacks 4) All of the above

4) Imbrbn¡H$s H$moUË¶m KQ>H$mMm ‘mZdr dgmhVrda n[aUm‘ hmoVmo?
a) ŷn¥ð>aMZm b) nmUr c) gy¶©àH$me
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) (a), (b) Am{U (c)

4) Which of the following factors affect human settlement.

a) Topography b) Water c) Sunlight

Answer Options :

1) only (a) 2) only (b) 3) (a) and (b) 4) (a), (b) and (c)

5) EH$mM dñVrVrb Kao EH$‘oH$m§nmgyZ doJir d A{Z¶{‘VnUo dgbobr AgVmV Aem dñVrg ...... Ago åhUVmV.
1) H|$Ðr¶ dñVr 2) {dIwabobr dñVr 3) g§{‘l dñVr 4) AnI§{S>V dñVr

5) The settlement in which houses are physically separated and uneven distributed is called as ......

1) nucleated settlement 2) dispersed settlement

3) composite settlement 4) fragmented settlement

6) J«m‘rU dgmhVr‘Ü¶o ...... ñdê$nmÀ¶m ì¶dgm¶m‘Ü¶o H$m‘ H$aUmè¶m§Mr g§»¶m gdm©{YH$ AgVo.
1) {ÛVr¶H$ 2) V¥Vr¶H$ 3) àmW{‘H$ 4) MVwW©H$

6) In rural settlements, the highest number of people work in ...... type of occupation.

1) Secondary 2) Tertiary 3) Primary 4) Quarternary

6) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
1) ¶mo½¶ OmoS>çm bmdm.

      amÁ¶ bmohI{ZO CËnmXH$ àXoe
a) ‘hmamï´> i) ~m~m ~wXmZ Q>oH$S>çm
b) Amo[agm ii) ~ñVa
c) H$Zm©Q>H$ iii) M§Ðnya
d) N>ÎmrgJS> iv) ~moZmB©
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (i) (ii) (iii) (iv)

1) Match the following.

State Region of Iron ore production

a) Maharashtra i) Bababudan hills

b) Orissa ii) Bastar

c) Karnataka iii) Chandrapur

d) Chhattisgarh iv) Bonai

Answer Options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (i) (ii) (iii) (iv)

2) ...... àH$ënm‘Ü¶o ZmJnya ¶oWrb {d‘mZVimbm Am§Vaamï´>r¶ àdmgr d H$mJm}dmhH$ {d‘mZVim‘Ü¶o {dH${gV H$aÊ¶mMm
g‘mdoe Amho.
1) dwhmZ 2) {‘hmZ 3) àm{YH$aU 4) dmhVyH$

2) The ...... project involves developing the airport at Nagpur into an international passenger and

cargo hub airport.

1) Wuhan 2) Mihan 3) Authority 4) Transportation

3) Imbrb {dYmZo nhm.
a) ‘hmamï´> amÁ¶mVrb {d‘mZVim§Mm {dH$mg H$aÊ¶mgmR>r ‘hmamï´> {d‘mZVi H§$nZr (MADC) Mr ñWmnZm 2002 ‘Ü¶o

H$aÊ¶mV Ambr.
b) darb àH$ënm‘Ü¶o SICOM Am{U MSRDC ¶m§Mm gh^mJ Amho.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a) ~amo~a Zmhr 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV.

3) Observe the following statements :

a) Maharashtra Airport Development Company (MADC) was established in 2002 to develop

airports in the State of Maharashtra.

b) There is a Participation of SICOM and MSRDC in the above project.

Answer Option :

1) Statement (a) is correct 2) Statement (a) and (b) are correct

3) Statement (a) is not correct 4) Statement (a) and (b) are not correct

4) ...... ho AmYw{ZH$ gmoB© Agbobo ^maVmVrb ~§Xa gZ 1989 ‘Ü¶o gwê$ H$aÊ¶mV Ambo.
1) ‘w§~B© 2) Odmhabmb Zohê$ 3) qgYwXþJ© 4) XodJS>
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4) ...... is a modern port of convenience in India launched in 1989.

1) Mumbai 2) Jawaharlal Nehru 3) Sindhudurg 4) Devgad

5) OmoS>çm bmdm.
a) am¶JS> i) {^b‘m
b) nwa§Xa ii) VmZmOr ‘mbwgao
c) Xm¡bVm~mX iii) gdmB© ‘mYdamd
d) qghJS> iv) {hamoOr B§XÿbH$a
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iv) (iii) (i) (ii)

4) (i) (ii) (iv) (iii)

5) Match the following.

a) Raigad i) Bhilma

b) Purandar ii) Tanaji Malusare

c) Daulatabad iii) Sawai Madhavrao

d) Sinhagad iv) Hiroji Indulkar

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iv) (iii) (i) (ii)

4) (i) (ii) (iv) (iii)

7) CÚmoJ
1) Imbrb {dYmZo nhm.

a) npíM‘ ‘hmamï´>mV gmIa CÚmoJmMo H|$ÐrH$aU ‘moR>çm à‘mUmV Pmbo Amho.
b) Ah‘XZJa, H$moëhmnya, gmVmam, nwUo ho gmIa CËnmXZmV AJ«oga {Oëho AmhoV.
c) ‘hmamï´>mV n{hbm gmIa H$maImZm ‘§w~B© ¶oWo C^maÊ¶mV Ambm.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a Amho. 2) {dYmZo (a) Am{U (b) ~amo~a AmhoV.
3) ’$º$ {dYmZ (c) ~amo~a Amho. 4) {dYmZo (a), (b), (c) ~amo~a AmhoV.

1) Observe the following statements :

a) The sugar industry has been largely concentrated in Western Maharashtra.

b) Ahmednagar, Kolhapur, Satara & Pune are leading districts in sugar production.

c) The first sugar factory in Maharashtra was established in Mumbai.

Answer Options :

1) only statement (a) is correct. 2) statements (a) and (b) are correct.

3) only statement (c) is correct. 4) Statements (a), (b), (c) are correct.
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2) OmoS>çm Owidm.
                ñV§̂  'A' ñV§̂  'B'

a) ^m^m A°Q>mo{‘H$ [agM© g|Q>a i) H$ën¸$‘
b) [aA°³Q>a [agM© g|Q>a ii) Vmamnya
c) Q>mQ>m BpÝñQ>Q>çyQ> Am°’$ ’§$S>m‘|Q>b [agM© iii) Q́>m°å~o
d) A°Q>mo{‘H$ nm°da ñQ>oeZ iv) ‘§w~B©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (i) (ii) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)

2) Match the following :

Column - A Column - B

a) Bhabha Atomic Research Centre i) Kalpkam

b) Reactor Research Centre ii) Tarapur

c) Tata Institute of Fundamental Research iii) Trombe

d) Atomic Power Station iv) Mumbai

Answer Options :

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (i) (ii) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)

8) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
1) OZJUZm 2011 à‘mUo ‘hmamï´> amÁ¶mV H$moUË¶m àH$maÀ¶m ñWbm§VamMo à‘mU OmñV Amho?

1) J«m‘rU ^mJmVyZ J«m‘rU ^mJmV 2) ZmJar ^mJmVyZ ZmJar ^mJmV
3) ZmJar ^mJmVyZ J«m‘rU ^mJmV 4) J«m‘rU ^mJmVyZ ZmJar ^mJmV

1) Which type of migration is higher in Maharashtra State as per census 2011 ?

1) From rural areas to rural areas 2) From urban areas to urban areas

3) From urban areas to rural areas 4) From rural areas to urban areas

2) OmoS>çm Owidm.
{Oëhm qbJJwUmoÎma OZJUZm 2011
a) §̂S>mam i) 999

b) Jm|{X`m ii) 982

c) aËZm{Jar iii) 1122

d) bmVya iv) 928
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (i) (ii) (iv) (iii)

3) (iii) (i) (ii) (iv)

4) (iv) (iii) (i) (ii)

2) Match the following :

District Sex-ratio census 2011

a) Bhandara i) 999

b) Gondiya ii) 982

c) Ratnagiri iii) 1122

d) Latur iv) 928

Answer Options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (i) (ii) (iv) (iii)

3) (iii) (i) (ii) (iv)

4) (iv) (iii) (i) (ii)

3) OZJUZm 2011 Zwgma, Imbrb {Oëøm§Mm ~mb qbJ JwUmoÎma (0 - 6) g§X^m©V CVaVm H«$‘ bmdm.
a) M§Ðnya b) OiJmd c) ~rS> d) Jm|{X¶m
n¶m©¶r CÎmao …
1) (d), (b), (c), (a) 2) (c), (b), (a), (d) 3) (d), (a), (b), (c) 4) (b), (d), (a), (c)

3) Arrange the descending order of the following districts regarding child sex-ratio (0-6) as per the

2011 census.

a) Chandrapur b) Jalgaon c) Beed d) Gondiya

Answer Option :

1) (d), (b), (c), (a) 2) (c), (b), (a), (d) 3) (d), (a), (b), (c) 4) (b), (d), (a), (c)

4) gZ 2011 À¶m OZJUZoZwgma qbJ-JwUmoÎma ‘hmamï´>mVrb ...... {Oëhm eodQy>Z ghmì¶m H«$‘m§H$mda hmoVm.
1) ~rS> 2) Zm§XoS> 3) ‘§w~B© CnZJa 4) Am¡a§Jm~mX

4) According to the 2011 census, ...... district in Maharashtra was ranked sixth in te sex-ratio from

the bottom.

1) Beed 2) Nanded 3) Mumbai Suburb 4) Aurangabad

5) ‘hmamï´>mg§X^m©V Imbrb {dYmZo nhm (OZJUZm 2011).
a) 2001 Vo 2011 ¶m Xedm{f©H$ H$mim‘Ü¶o bmoH$g§»¶m d¥ÕrXa Joë¶m XeH$mÀ¶m (1991-2001) VwbZoV 6.74

JwUm§Zr KQ>bm.
b) 2001-2011 ¶m Xedm{f©H$ H$mim‘Ü¶o gdm©V OmñV bmoH$g§»¶m dmT>rÀ¶m XamMr Zm|X nwUo {OëømV Pmbobr {XgyZ

¶oVo.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Zmhr, (b) ~amo~a Amho. 2) XmoÝhr {dYmZo (a) Am{U (b) ~amo~a ZmhrV.
3) XmoÝhr {dYmZo (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZ (b) ~amo~a Zmhr, (a) ~amo~a Amho.
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5) Observe the following statements regarding Maharashtra (census 2011).

a) Decade 2001-2011 when compared with previous decade (1991-2001) shows an reduction in

population growth rate by 6.74 points.

b) In 2001-2011 decade the highest population growth rate has been recorded in Pune district.

Answer Option :

1) Statement (a) is not correct, (b) is correct

2) Both statements (a) and (b) are not correct

3) Both statements (a) and (b) are correct

4) Statement (b) is not correct, (a) is correct

6) Wm°‘g ‘mëWg ¶m§Zr bmoH$g§»¶m dmT>rMm {gÕm§V H$moUË¶m gmbr ‘m§S>bm?
1) 1798 2) 1834 3) 1788 4) 1805

6) In which year Thomas Malthus put forwarded the population growth theory ?

1) 1798 2) 1834 3) 1788 4) 1805

7) Imbrb {dYmZo nhm.
a) ‘mëWgÀ¶m ‘Vo bmoH$g§»¶m d AÞYmÝ¶mMo CËnmXZ XmoÝhr dmT>VmV.
b) ‘mëWgÀ¶m ‘Vo bmoH$g§»¶oMr dmT> ^m¡{‘{VH$ loUrZo d AÞYmÝ¶ CËnmXZ J{UVr loUrZo hmoVo.
c) ‘mëWgÀ¶m ‘Vo bmoH$g§»¶oMr dmT> J{UVr loUrZo d AÞYmÝ¶ CËnmXZ ^m¡{‘{VH$ loUrZo hmoVo.
n¶m©¶r CÎmao …
1) ’$º$ (a) ~amo~a Amho. 2) ’$º$ (b) ~amo~a Amho.
3) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZo (a), (b) Am{U (c) ~amo~a AmhoV.

7) Observe the following statements :

a) According to Malthus population and food production both are increased.

b) According to Malthus population increases in Geometrical progression & food production

increases in mathematical progression.

c) According to Malthus population increases in mathematical progression and food production®

increases in Geometrical progression.

Answer Options :

1) only statement (a) is correct. 2) only statement (b) is correct.

3) statements (a) and (b) are correct. 4) statements (a), (b) and (c) are correct.

8) {dH${gV XoemVrb OZZà‘mU H$‘r AgÊ¶mMo Imbrbn¡H$s H$moUVo EH$ H$maU Zmhr?
1) Hw$Qw>§~mMm AmH$ma bhmZ R>odÊ¶mH$S>o H$b 2) Cƒ amhUr‘mZ
3) ZmJarH$aU 4) {ó¶m§‘Yrb namdb§~Z

8) Which of the following is not a reason for low birth rate in developed countries ?

1) Tendency to keep family size small 2) High standard of living

3) Urbanization 4) Dependency of women

  ‘hmamḯ>mVrb O{‘ZrMo àH$ma
1) CÎma ^maVmVrb ‘¡XmZr àXoemÀ¶m H$moUË¶m JmimÀ¶m ‘¡XmZmV {h‘mb¶mVyZ dmhmV ¶oUmè¶m bhmZ ZÚm {dbwá hmoVmV?

1) VamB© ‘¡XmZ 2) ^m§Ja ‘¡XmZ 3) ImXa ‘¡XmZ 4) ^m~a ‘¡XmZ
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1) In which alluvial plain of North Indian plain where small rivers flowing down from Himalay

disappears ?

1) Tarai plain 2) Bhangar plain 3) Khadar plain 4) Bhabar plain

2) ‘¥Xm {Z{‘©VrMo Imbrbn¡H$s {ZpîH«$¶ KQ>H$ H$moUVo AmhoV?
a) ‘yi gm‘wJ«r (‘yi IS>H$ Am{U I{ZOo) b) àXoemMr ñdm^m{dH$ aMZm
c) dZñnVr Am{U Ord c) H$mi
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (c) Am{U (d) 3)’$º$ (a), (b) Am{U (c) 4) ’$º$ (a), (b) Am{U (d)

2) Which of the following are the passive soil forming factors ?

a) Parent material (Rocks and minerals) b) Topography

c) Vegetation and organisms d) Time

Answer Options :

1) only (a) and (b) 2) only (c) and (d) 3) only (a), (b) and (c) 4) only (a), (b) and (d)

3) O{‘Zr‘Ü¶o dmiy, nmo¶Q>m (Jmi) Am{U {MH$U‘mVr VwbZmË‘H$ÑîQ>çm Agboë¶m à‘mUmg ...... åhUVmV.
1) O{‘ZrMm nmoV 2) O{‘ZrMr H$UaMZm 3) O{‘ZrMo dJuH$aU 4) O{‘ZrMo (‘mVrMo) H$U

3) The relative proportion of sand, silt and clay in soil is known as ......

1) Soil texture 2) Soil structure 3) Soil taxonomy 4) Soil separates

4) Imbrb OmoS>çm Owidm.
a) O{‘ZrMm H$mim Am{U JS>X amImS>r a§J i) AZhm¶S´>oQ>oS> ’o$[aH$ Am°³gmB©S>
b) O{‘ZrMm Vn{H$ar a§J ii) {g{bH$m Am{U MwZm
c) O{‘ZrMm nm§T>am a§J iii) g|{Ð¶ nXmW© Am{U Am¶Z© Am°³gmB©S> ¶m§Mo {‘lU
d) O{‘ZrMm Vm§~S>m (bmb) a§J iv) ‘w»¶Ëdo g|{Ð¶ nXmW©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (i) (iv) (ii)

3) (iv) (i) (iii) (ii)

4) (ii) (iv) (i) (iii)

4) Match the following :

a) Black and dark grey colour of soil i) Unhydrated ferric oxides

b) Brown colour of soil ii) Silica and lime

c) White colour of soil iii) Mixture of organic matter and iron oxides

d) Red colour of soil iv) Mainly organic matter

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (i) (iv) (ii)

3) (iv) (i) (iii) (ii)

4) (ii) (iv) (i) (iii)
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5) ‘¥XoÀ¶m Imbrbn¡H$s H$moUË¶m JwUY‘m©da ‘mVrVrb g|Ðr¶ nXmWm©Mm à^md nS>Vmo.
a) O{‘ZrMm XmUoXmanUm (H$UXmanUm) dmT>{dÊ¶mg CÎmoOZ {‘iVo.
b) nmUr gmR>{dÊ¶mMr j‘Vm dmT>Vo.
c) Cƒ grB©gr nmofH$ AÞÐì¶mMo {PanyZ hmoUmao ZwH$gmZ H$‘r H$aVo.
d) ZÌ, ñ’w$aX, J§YH$ Am{U gyú‘ AÞÐì¶o hr g§o{Ð¶ ñdê$nmV Yê$Z R>odVmV.
n¶m©¶r CÎmao …
1) (a) Am{U (d) 2) (b) Am{U (c) 3) (b), (c) Am{U (d) 4) darb gd©

5) Which of the following properties of soil are influenced by soil organic matter ?

a) Encourage soil granulation

b) Increases water retentive capacity

c) High CEC minimise the leaching losses of nutrients

d) NPS and micro nutrients are held in organic form

Answer Options :

1) (a) and (d) 2) (b) and (c) 3) (b), (c) and (d) 4) All of the above

6) O{‘ZrÀ¶m ‘yi H$j WamV gmR>dboë¶m nmÊ¶mMo Am{U nmUr XoÊ¶mAJmoXa ‘yi H$j WamMr nmÊ¶mMr AgUmar JaO ¶m§À¶m
JwUmoÎmamg ...... åhUVmV.
1) qgMZ H$m¶©j‘Vm 2) nmUr dhZ H$m¶©j‘Vm 3) nmUr {dVaU H$m¶©j‘Vm 4) nmUr gmR>dU H$m¶©j‘Vm

6) The ratio between the quantity of water stored in root zone and the water needed in the root zone

prior to irrigation in called as ......

1) Irrigation efficiency 2) Water conveyance efficiency

3) Water distribution efficiency 4) Water storage efficiency

7) Imbrbn¡H$s H$moUVo Cnm¶ ho ‘¥X g§dY©ZmgmR>r Kir {Z¶§ÌUmMo XrK© {MañWm¶r Am{U {Q>H$mD$ Ago dZñn{VOÝ`
Cnm¶m§Mm dmna H$aÊ¶mMo AmhoV?
a) gm°S> âb¶wåg b) PwSy>nm§Mr AS>Wio c) PmS>o PwSw>no
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) darb gd©

7) Which of the followings is/are the long lasting and sustainable vegetable control measures of

gully control for conservation of soil ?

a) sod flumes b) shrub checks c) trees and shrubs

Answer Options :

1) only (a) 2) only (b) 3) only (c) 4) All of the above
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CÎmao - (12) ^maVmMm {deofV: ‘hmamḯ>mMm ŷJmoc

1-2 2-3 3-3

1) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
1-2 2-2 3-2 4-4 5-1 6-2 7-3 8-3 9-1 10-3

11-2 12-2 13-4 14-3 15-4 16-3 17-4

4) à‘wI {nHo$ - eoVr
1-2 2-2 3-3 4-1 5-2 6-3

 ZÚm - YaUo Am{U àH$ën
1-3 2-1 3-2

5) ehao Am{U ZmJarH$aU
1-1 2-4 3-4 4-4 5-2 6-3

6) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
1-3 2-2 3-2 4-2 5-3

7) CÚmoJ
1-2 2-4

8) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
1-1 2-1 3-3 4-4 5-4 6-1 7-3 8-4

  ‘hmamḯ>mVrb O{‘ZrMo àH$ma
1-4 2-4 3-1 4-1 5-4 6-4 7-4


